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QUESTION 1

A system administrator is creating a new WebSphere cell consisting of three dedicated machines: ?web server
?deployment manager ?application server node To provide process level failover, the administrator should create a
cluster with: 

A. no scaling 

B. vertical scaling 

C. horizontal scaling 

D. horizontal and vertical scaling 

Correct Answer: B 

 

QUESTION 2

A system administrator needs to modify the context root of a web application. The Web Context root can be changed
using the IBM Assembly and Deploy Tools (IADT) by editing: 

A. web.xml file 

B. Web project settings 

C. web deployment descriptor 

D. Enterprise Application project settings 

Correct Answer: B 

 

QUESTION 3

A system administrator needs to improve performance of a WebSphere Application Server runtime. The computations of
JavaServer Pages (JSP), servlets, portlets, Web services and WebSphere commands should be performed once and
served from memory. 

What should the administrator configure? 

A. Caching Proxy 

B. Edge Components 

C. Dynamic cache service 

D. WebSphere eXtreme Scale 

Correct Answer: C 
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QUESTION 4

The lead administrator needs to limit access to the Integrated Solutions Console (ISC) by a group of administrators who
only need to: ?view the configuration of the WebSphere Application Server. ?monitor its status. ?stop and start the
server. 

To what administrative role should the lead administrator assign this group? 

A. Auditor 

B. Monitor 

C. Operator 

D. Configurator 

Correct Answer: C 

 

 

QUESTION 5

A system administrator must configure IBM WebSphere Application Server Network Deployment V8.0 to authenticate
users with a Windows domain. The administrator should configure a registry that is: 

A. a local operating system (OS). 

B. a Virtual Member Manager (VMM). 

C. a registry that implements WebSphere Common Configuration Model (WCCM). 

D. an Active Directory (AD) domain controller. 

Correct Answer: A 
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